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01 2ItXEE X 156,000 0 156,000
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SN CR(EH) - NRAY - BES ]

z
12
=1
R
121
==
El
i
u

Ols& HERFEZIHIXE

260,000,000 *60/ 100 156,000
78,000
23,400
54,600

= H W

10,923, 149 12,271,609 A 1,348,460
1,943,000

479,000
2,751,964
5,749,185

=}
1%}
0z
iz
~
T
He
e
o
f
oy
P
0x

r
M~

=

KNSAHAEAE(EX) 1,500,000 1,304,535 195,465
750,000
750,000

= H

401 Al YIS OHYI 1,500,000 1,304,535 195,465

750,000
750,000

= H

01 Al&H 1,494,736 1,300,000 194,736
OUEE 08t Al& ALY 498,200,0002 * 14! 498,200
249,100
249,100
bS5 Ol EHAlA ALY 498,268
~& Al H I 481,930,000 x3.39/100 16,338
8,169
8,169
-Al& b 481,930, 000! 14! 481,930
240,965
240,965
OO0IJt2I8t Of & Al & AL 498,268
~&1 Al & 3 | 481,930,000 *3.39/100 16,338
8,169
8,169
~Al&H 481,930,000 *14! 481,930
240,965
240,965
03 Al&Z= il 5,264 4,535 729
OXISOIBAIZ AN AlE 2T
1,462,060, 0002 %0.36/100 5,264

2,632
2,632

=

=z H

= H

=

=

=

a720

o9

184,693 143,708 40,985

101 Q1] 8,393 0 8,393

04 JIAHZ2NHESE= 8,393 0 8,393
OFZel SEHASE 22l 8,393
-0I2 34,4003 x1H »220 7,568
-AEE JI2RES 7,568,000& *10.9% 825

201 etEEl 3,600 0 3,600
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SN SNRED
HE: HYSMATE(SHHYLA/HLEL - O E)
SRl OfRIMA|Er U oor B (Sl &2)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
02 IT2YH| 3,600 0 3,600
O1.2222YHA 3,600
-BYel SEHAIBR (M, +E) BBRS
300,0002 *122 3,600
202 OiH| 2,700 2,700 0
01 =2Uoibl 2,700 2,700 0
OMSRZMLAY =FOIH|
60,0002 +32 x32 x53] 2,700
207 HPIHL LI 20,000 0 20,000
01 eipE | 20,000 0 20,000
OOZEMBNIESEA JI12HE 29
20,000, 0002 *14! 20,000
401 Al&HIL 20| 150,000 141,008 8,992
01 Al&H] 150,000 140,000 10,000
OOEAIE 21324 RXIHI 80,000,008 14! 80,000
OTREE72IE HFAILAY 70,000,000 *14] 70,000
ARDOEAIL(SE) 4,510,004 6,315,257 A1,805,253
= 1,353,000
Al 3,157,004
401 Al&HIL 20| 4,510,004 6,315,257 A1,805,253
= 1,353,000
Al 3,157,004
01 Al&H] 4,498,285 6,300,000 ~1,801,715
OBHZ 1218 OfE A& A 398,962
A A& ) 385,880,000 %3.39/ 100 13,082
= 3,924
Al 9,158
ML 385,880, 00024 *14! 385,880
= 115,764
Al 270,116
OBSE HEALAY 398,962
N 385,880,00024 %3.39/100 13,082
= 3,924
Al 9,158
LI 385,880, 00024 *14! 385,880
= 115,764
Al 270,116
Ol E22I8 OB AL AL 398,962
N ] 385,880,000 %3.39/ 100 13,082
= 3,924
Al 9,158
ML 385,880, 00021 *14! 385,880
= 115,764
Al 270,116
OUSHH2RIE Of & AI& A 309, 199




SN SNRED
HE: HYAMATES (SYHSSA/ Y24 - O )
SRl P MADIY Y O BT
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 gggig
~ &L A& ] 298,080,000 3.73/100 1,119
= 3,335
Al 7,784
ML 298,080, 0002 * 14! 298,080
= 89,424
Al 208,656
OELIVEIETVEDNPEPNS-S 299,220
N T 288,460,0002 3.73/100 10,760
= 3,228
Al 7,532
LI 288,460, 0002 *14! 283,460
= 86,58
Al 201,922
OXAt2IE & A& ALY 299,220
N 288,460,0002 ¥3.73/100 10,760
= 3,228
Al 7,532
~Al& bl 288,460, 0002 * 14! 288,460
= 86,538
Al 201,922
OY Y328 0fE A& AL 299,220
& A& 283,460,000 %3.73/ 100 10,760
= 3,28
Al 7,532
LI 283,460, 0002 * 14! 288,460
= 86,538
Al 201,922
ORE22/8 KHE AL AL 299,220
N T 288,460,0002 ¥3.73/100 10,760
= 3,228
Al 7,532
ML 288,460, 0002 *14! 288,460
= 86,538
Al 201,922
OXE22I8 0fE A& A 299,220
N L] 283,460,000 %3.73/ 100 10,760
= 3,28
Al 7,532
LI 283,460, 0002 * 14! 288,460
= 86,538
Al 201,922
O A28 OB A& A 299,220
NP 288,460,0002 ¥3.73/100 10,760
= 3,228
Al 7,532
ML 288,460, 0002 *14! 283,460
= 86,538
Al 201,922




SN SMTED
HE: HYSMATE(SHHYLA/HLEL - O E)
SOl O1QIAARD|BE O QIo BT (e @8
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
OUZI2IE OBAI&AY 299,220
~AL A& b 288,460,00024%3.73/100 10,760
= 3,228
Al 7,532
L] 288,460,00024 *14! 288,460
= 86,533
Al 201,922
OYZ2lg HFAILAL 299,220
AL AL A 288,460,000 %3.73/ 100 10,760
= 3,228
Al 7,532
SEL] 288,460, 00021 *14! 288,460
= 86,533
Al 201,922
OOHt2IE O BHAIE ALY 299,220
NEE L 288,460,00024%3.73/100 10,760
= 3,228
Al 7,532
SEL] 288,460,00024 *14! 288,460
= 86,533
Al 201,922
OBE2IE ALY 299,220
~A Al H b 288,460, 0002 *3.73/ 100 10,760
= 3,228
Al 7,532
SEL] 288,460,0002! +14! 288,460
= 86,533
Al 201,922
03 Al& SOt 11,719 15,257 ~3,538
OATSOIAILAY AL R
4,340,320,0002!%0.27/100 11,719
= 3,517
Al 8,202
clotst o =otojgtael 68,393 212,334 A 143,941
101 Q1248 8,393 7,334 1,059
04 JARZRIISES 8,393 7,334 1,059
OY%ZE 22|l 8,393
-0l 9] 34,4002 * 12 %2202 7,568
AUEE JlERY3 7,568,000 *10. 9% 825
201 Y2 Y| 24,000 23,000 1,000
02 T2l 24,000 23,000 1,000
O1.ZZQ3LHA 8,000
~EE 2 BB (HI], M5H4E)
1,500,000 * 122 18,000
O3. A& ZHIRXIHI 6,000
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373,345

AMRED
HYS AT E (SR L2/ T2 b - O F)
0124 AAD|BE O G10F BAX A CEEREED
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES e Ofl At ot Hlws2
ST RS ALE RNES U B#IFY
500,0002 122 6,000
401 AEHIL 2] 36,000 6,000 30,000
01 Al 36,000 6,000 30,000
OBl SHAILS Y L =#BFY|
500,0002 122 6,000
02018 & =QEE CCTV &X|
30,000,002 174 2 30,000
OIBE R AR AL (B E) 320,000 320,000 0
= 96,000
Al 224,000
402 QITH2O0|H 320,000 320,000 0
= 96,000
Al 224,000
01 PI2R=EE 320,000 320,000 0
000l BESRATAIM (204 )
400,000,000 *80/100 320,000
= 96,000
Al 224,000
SREMBALNA(SF) 400,000 400,000 0
= 120,000
Al 280,000
402 QI2HXH2O0|H 400,000 400,000 0
= 120,000
Al 280,000
01 BIZHAEEE 400,000 400,000 0
OL% SEHEAIL 0H
800,000,000 *50/100 400,000
= 120,000
Al 280,000
OF 01 & 8+ 2 I} & 79,750 97,320 A17,570
101 o121l 37,750 33,220 4,530
04 JIAH2RRSES 37,750 33,220 4,530
OIoHE A BARY|(LolYT2 2HE) 37,750
~olsg) 200,0002 x2521 x7 2l 35,000
-28 2 2O 110,000 %254 2,750
401 AEHIL2 ] 42,000 46,500 A4,500
01 Al 42,000 46,500 ~4,500
OHOIZoI7 4 Hel| 270,0002 * 100 27,000
OB I| £IHAY 150,000 * 100 15,000
EZSWLAL(LF) 2,026,309 1,492,854 533,455
=l 1,493,000
= 159,964
Al
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401 AlEHIZ STl 2,026,309 1,492,854 533,455
1,493,000
159,964
373,345

= H o

01 Al£Hl 2,019,281 1,487,673 531,608
LA (SHEAA) 2,019,281

470,000,000 *5.6/100 26,320
19,3%4
2,078
4,848

= H o

—AAIE A (E 2 e

<
0!
>
>
Ha
o

bl
Y

.75/100 40,761
30,034
3,218
7,509
—-Al£H] 1,952,200, 000& * 14! 1,952,200
1,438,463

154,121

359,616

03 AI&=0HYI 7,028 5,181 1,847
OUHESEMHLAY AR
1,952,200,000& *0.36/100 7,028

5,109
547
1,372

= H o

= H1 08

= Hoe

HLHIISHSAIL (EX) 20,000 20,000 0
p) 12,000
4,000
Al 4,000

H

307 GI12told 20,000 20,000 0
12,000
4,000
4,000

= mn X

05 2IIRAE S 20,000 20,000 0
OZXgS MY D] =0HAMS (=S THEH)
20,000, 0003 14 20,000

12,000
4,000
4,000

=Y

SEHASEEZLE(ER) 900,000 1,000,123 /100, 123
450,000
135,000
315,000

= H1 o

401 AlEHI LS HHI 900,000 1,000, 123 /100, 123
450,000
135,000
315,000

= H 08




SH: SMTED
HE: HYSMATE(SHHYLA/HLEL - O E)
SOl OfRM AT 2 Qloh BIAEN (e @8
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
01 Al&| 894,365 995,114 A 100,749
OBUel SHHABATL A
894,365, 00021 *14! 894,365
3 447,183
= 134,155
Al 313,027
03 Al&=OHH] 5,635 5,009 626
OBel SBHABAZL ALY
894,365, 0002 %063/ 100 5,635
=l 2,817
= 845
Al 1,973
AN HFB(2X) 167,000 166,000 1,000
= 50,000
Al 117,000
402 212H X201 F 167,000 166,000 1,000
= 50,000
Al 117,000
01 UAEBE 167,000 166,000 1,000
OUAHE S| 167,000, 0002 * 14! 167,000
= 50,000
Al 117,000
ELTESBIERESIEESY 467,000 0 467,000
| 467,000
307 2120/ H 467,000 0 467,000
p 467,000
05 DI2tSIErD 467,000 0 467,000
OSI28 AXHIIS +H(B2HE0IRES)
467,000,000 467,000
| 467,000
NERCENEELI SN LI EICES 280,000 0 280,000
= 84,000
Al 196,000
401 AEHI2L S0 280,000 0 280,000
= 84,000
Al 196,000
01 Al&| 277,998 0 277,998
ONLOE NESOHFEAL L SAB2IAL(8
D) 277,998 00021 *14! 277,998
= 83,399
Al 194,509
03 Al&=CHHl 2,002 0 2,002
ONLOE NESUAFMAL U SXBL| AL
CH 277,998 00021 +0.72/ 100 2,002
= 601
Al 1,401
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SN SNRED
HE: HUSMNATE(SHHS S/ HS 4 - OfE)
Sl HASH J|UEE (e
- e =
SN EB -GS - MBAY - BES 0 & 24 e HRE2
HE2H JlvEE 1,848,605 898,908 949,697
= 228,000
Al 1,620,605
Hae=E HolAL WA 1,089, 140 400,804 688,336
101 Q124H] 19,310 22,570 A3,260
04 JIAH2EZXESS 19,310 22,570 ~3,260
OSEH4+2H DAES 22| A=Y (R
IS A 62,2092 12§ x2202 3,686
OHIXI22ld 2HOILY(SIISHA)
62,0092 %1% +602 3,726
O4UNEE JlBLHD 17,412,0002 *10.9% 1,898
201 Yer2o| 130,822 142,854 A12,032
01 AtR2elt] 21,572 20,872 700
O1. 2848 10,960
“HaEsE 2 2B M
2,0002! *5,0000H 10,000
SN 2EAM 248 960, 0002 960
O5.2 | 1,512
—HESY HRFED A
7,000 «32 %62 + 122 1,512
06. 2 %2 9,100
~H4SF HIX22ld 28 Fdlet YXH5E)
350, 0009 * 1§ <262 9,100
02 ZZ2Y| 109,250 121,982 A12,732
O1.ZZR3LHA 100,100
~ERASE DAES BBRI(MII, O
4) 4,500,0002! * 122 54,000
-SSR ASE DARS MIIHBARY &
] 500,000 *122 6,000
SHASE DML AHBHI(THA)
38, 100, 0002 38, 100
4= gx22d 282 2,000,0008 2,000
O2. 22| 3,150
A= HIXF2AH REUH(HLR)
1,50021%35 £ *602 3,150
O3. Al EFHIR X 6,000
SERHASY DAES L R Fy|
KX 22l 6,000,000 6,000
202 01t 3,780 3,780 0
01 =UHoit] 3,780 3,780 0
OS2 He L 222y
60,0002 *3% +32! 73] 3,780
307 2120/ H 10,000 10,000 0
04 DIASAIS 10,000 10,000 0
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SH: SMTED
HE: HYSMATE(SHHY LA /HLEL - O E)
ol AR J|uEE (B9 &2
_ _ pSNE e
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
OPBLH+2E QO F0l AE A
10,000, 0002 10,000
401 AEHILS T 925,228 51,600 873,628
01 Al 924,392 50,000 874,392
OSTHLSZ MHANSSZ A
20,0002 *300m 36,000
OSEH+2E HIXl AZX0tY &3 3,000
S PNEEIEES 500, 0002 27} A 1,000
ENENES 1,000,000 %2JH 2 2,000
SSHEST OHHAE MR 85,392
SOl 2 AAIZHEl 80,000,000 *6.74/100 5,392
A& 80,000,0002 174 2 80,000
OZTH+2E HOIHAZEZAI 800,000
~AALE I (FI]) 200,000,000 *4.08/100 8, 160
L] 791,840,0008 *14! 791,840
03 Al& S OHY| 836 1,600 AT764
OMSSEMLAY AL 20|
116,000, 0002 x0.72/100 836
WESZBIAL I LHE(SF) 92,285 95,409 A3, 124
= 28,000
Al 64,285
401 AIEHILR ] 92,285 95,409 A3, 124
= 28,000
Al 64,285
01 Al 91,520 94,599 A3,079
OM4SE BHIAL Y L =5 91,520
DIZUMAILHE 85,000,0008+7.67/100 6,520
= 1,982
Al 4,533
L 85,000,00021 * 14! 85,000
= 25,840
Al 59, 160
03 Al&=CHHl 765 810 Ad5
OM4SE BoAlL Hyl L 25 ANEL0H]
85,000,0002 x0.90/100 765
= 178
Al 587
FLHLSH SN (SX) 667,180 402,695 264,485
= 200,000
Al 467,180
401 AEHILR ] 667, 180 402,695 264,485
= 200,000
Al 467,180
01 Al 663,500 400,000 263,500
OHFZH4+SH SsHLAY 663,500
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SN SNRED
HE: HUSMNATE(SHHS S/ HS 4 - OfE)
Sl HASH JIpEE A H
_ _ _ Muo
SNBSS - HRAY - BHES Aboy i 2
~ &L A& ] 3,000,000,0002! +2..65/100 79,500
= 23,838
Al 55,662
LI 584,000,0002! 14! 584,000
= 175,112
Al 408,888
03 Al& S CH| 3,680 2,695 985
OFTH4SH SSHLAY ALY
584,000,000% x0.63/ 100 3,680
= 1,050
Al 2,630
Y 2SYAY (SMRED) (OIEHIIE 80,500 68, 100 12,400
ol el (FA TS D) 4,200 4,200 0
e REET 4,200 4,200 0
203 HRFY| 4,200 4,200 0
04 BASYALEX 4,200 4,200 0
ORN2Y Y=V (Z Y :233)
350,000% 122 4,200
I ZH(44TED) 76,300 63,900 12,400
2N 2l 14,220 14,220 0
201 Yer2 ) 14,220 14,220 0
01 At 2,510 12,510 0
O1. 28484 7,910
“EN2Y Lsiagl| 4,110,0002! 4,110
~EN2Y HMULDEY 3,800,000 3,800
O5.2 | 4,600
-2N2Y 2 4,600,000% 4,600
02 ISl 1,710 1,710 0
O1.ZZQ3LHA 1,710
-2N2Y 2223 480,0002! 480
~eNYSE RHE 1,230
25 2502 +2005 * 122 600
=] 1,750 %30S * 122 630
e =01t 58,080 49,680 8,400
202 048] 58,080 49,680 8,400
01 =2Uloibl 58,080 49,680 8,400
OFQADRFFO0M 20,0008 +22%+112 122 58,080
Rt 2 2EFSH 4,000 0 4,000
405 XtorF S| 4,000 0 4,000
01 XHAYLSEFH S| 4,000 0 4,000
OFX=ZAI 7Y 4,000, 00021 +1CH 4,000
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